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TSl & o FE= 32

AR@UE Jferfere afiwg,
ANNUAL INTERMEDIATE EXAMINATION - 2023
BIOLOGY
( Optional )

Total Time : 3 Hours 20 minute Full Marks : 70
gaaEa: 39 20 fime quiteh : 70

General Instructions / Wﬁi“?‘l :

This Quesuon booklet has two Parts - Part-A nd Part-B
Part-A is of MCQ Typc hawng 35 marks W
OMR Answer sheet W‘hiCh w:ll be pr

Candidates can take 'away the Question Booklet after completmn of the
Examination.

9 u7A Qe 1 81 Wi § — Wm-A 91 WM-B,

M- T 35 3% % Fgfahedia uwa & e I e 9 @@ T OMR 3T 5H |
fafeq &% | AT-A % 39 TS 2.00 S A 3.35 WS d6 §A HOl @ 36
70 OMR 3 U5 dlarsh &l 3.35 IS W T ¢l |

qm-B U 35 3% & fauafig a8 [ 3w arem 4 fQ@ ™ I giwd W oEd
#{ | WW~B % I 3 70 GHY 3.40 UG @ 5.20 TG 7 fA4ifa@ 2 |

gfianefi whan % IT0=1 uvd giEasH F1 A I Fehd § |
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PART-A / 9M-A -

( MCQ BASED QUESTIONS )
( agierenedta snenfid a9 )

Class-12 Sub.-Biology F.M.-35 Time -1 Hour 30 Min.
(@i-12) | (Rwashafmm) | (qouis-35) (-1 ga1 30 fame)

INSTRUCTIONS / fdwm ;-

1.

Carefully fill up the necessary particulars on the OMR Answer Sheet.
graur @ o faar OMR S T W |

Put your full signature on the OMR Answer Sheet in the space

provided.
Y YT QU BT OMR I 056 T § T 718 W HK |

There are 35 Multiple Choice Questions in this Part.
39 v 4 g 35 Tg-faweda 7A@ € |

All questions are compulsory. Each question carries 1 mark.

aht e 3 e 31 P 21 5 S ) SR 1 3 Pt 21

There is no negative marking for any wrong answer.

T I % fore & o T R SR

Use the page given at the end of the question booklet for Rough
Work. Do not do any Rough Work on the OMR Answer Sheet.

T F1d 3 W QR & ofq 4 i@ ™ y= &1 & s ST OMR W
U9%F T HI 6 FE 7 S
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Read all the instructions provided on page 2 of the OMR Answer
Sheet carefully and do accordingly.

OMRmm%wzwmw%ﬁaﬁmﬂyﬁq@m_mm
H1 B
Four options are given for each question. You have to darken duly

the most suitable answer on your OMR Answer Sheet. Use only

Blue or Black Ball-Point Pen. The use of Pencil is not allowed.

T I3 U 91 ooy fod @ |3ﬁﬁﬁuaé3qg?ﬁmaﬁam' U4 OMR
IR IR W ik~ dih TTg0 et | et el a1 wien qid-wre e F A
v | 4 F1 wEm afla 1

Adhere to the instructions provided in the OMR Answer Sheect

very carefully otherwise your OMR Answer Sheet will be treated as

invalid and it will not be evaluated.

OMR IR U7 W @ ™ Fewi =1 srggs e Hife 3w 39e oMR
I YFAh U BN TR IAHT 4edisha a1 fohan s |
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\.l/ Genes which code for a pair of contrasting traits arc known as

(1)  Jumping genes \[})/Allclcs

(3)  Split genes (4)  Nonc of these

9 SH A1 fawTa o % el & e g w3 €, 3 e §

(1) SEE S= (2) @
(3) e (4) T | SR =

\g/ At which stage does oogenesis start in human female ?
{y/ During embryonic development
(2) At puberty
(3)  During menarche

(4)  During menopause
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g A1eT H 3SR Y GRS WY gl & 2

(1) o afeeds & wma (2) dEERY & w9y
(3) TERYH % ¥Hg (4) g % a5

In which phase of the cell division does DNA replication take

place ?
(1) G, phase @, S-phase
(3) G, phase (4) G, phase

aﬂﬁmﬁmmﬁﬁm@nﬁeﬁmﬁmaﬁr% ?
(1) G, & (2)  S-WEEn

(3) G, Hig&1 ' (4) G, HEEn

Which of the following is an example of homogametic ?

(1)  Human (2) Papaya

\l}l/Cladophora (4) Amoeba
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Frfefiga § @ #19 IS H R E ?

(1) "= (2) G

(3) AN (4)  3FHET

The most harmful metal pollutant in automobile exhaust is

{M/ Lead (2) Copper

(3) Cadmium (4) Mercury
HiemiaTee Fepr o Tl giHeRS e Ygu® §
(1) % @)

(3) heHEH (4) O™

Which of the following parasites is the causative organism of

malaria ?
(1)  Ascaris {2y Plasmodium
(3) Salmonella (4)  Rhino virus
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frefafEa o @ SH-91 g gafEr &1 O 596 § 2

(1) TERRE 2)
(@) e @
7 Darwin’s theory is based on
(1)  Mutation @)
.&)//D:Iatural selection  (4)
gife &1 fagia i €
(1) IOREH | | @)

(3) Wids 99 W (4)

o | e )

gt fermoy

Acquired character

None of these

ST FHEI0T T -

o @ B

\_Bv./ Through aquaculture and pisciculture we have been able to

increase the production of aquatic plants and animals of

\_(})/both fresh water.and marine water

(2)  fresh water only
. (3) marine water only

(4)  river water only
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TR T T e & GRT 8 oo qrgai @l Al & SIS =i

(2) FEA A FAT &

(3) HIA AU AT &

(4) HTA A A F

,9/ Plasmids are extra-chromosomal genetic material of which of the

following ?

(1)  Viruses (2) Algae

(3) Fungi (4}~ Bacteria

wfvae frfefiad 4 4 fa% aw TrREE arEie wwt E
(1) femy (2) @

(3) Ha= (4) sﬁaml
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Dio, When a living organism is bencfitted without harming any other

living organism, it is called

,\Ly/ Commensalism \(}}/ Symbiosis

(3)  Parasitism (4)  Predation

wF U Siewr!, Rt o steurt it e ggeme fan e g g, at

EE T InI
(1)  GgwiTar (2)  Wgstiferan
(3)  WRsitter (4) TR

D‘il. The primary endosperm nucleus formed in angiosperms is

(17~ haploid | 2) diploid
.@/ triploid (4)  tetraploid
R § T aren Wi YUl e 8 &
(1) 37w (2) fafr

(3)  Frfora (4) =
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\1,2./ The Earth Summit held in Rio de Janeiro in 1992 was related to
\(D/ Conservation of biodiversity
(2)  Protection of aquatic animals
(3)  Survey of natural resource
(4) Fertility of the soil
et fe it & 1992 # gU et foraw aie &1 wey €
(1) =t fafou & e @
(2) eig SfEl % T9E |
(3) IR HEHT & Feetor @

(4) T @t FEr @

\1)’}./ Which of the following chemicals is g constituent of oral

contraceptive pills ?
(1) Oxytocin (2)  Prolactin

\@)/ Progesterone {4) Relaxin
XS-BIO (BOT+ZOO)(OPT)-S ((12)/11084 | 10 / 32
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frfetiEa & & -9 WWE e mitRive fet w1 0 st & ?
(1) S (2) R
(3) IR @) R
: \p/ Which vitamin is present in golden rice ?
()" Vitamin A (2) Vitamin D
(3)  Vitamin E (4)  Vitamin K
@i 4§ SiH-91 faei sufem war ¢ 2
(1) foeiETaA | 2) feef=p
(3) faafmE (@) fefmK
@./ In a food chain herbivores are -
{1} Producers \@)/ Primary consumers

(3)  Secondary consumers (4) Decomposers
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U R §@e 1§ yEeR! 8 &

(1) 3RS | (2) iy ST

(3) fcirasw smitem (4) 3UHEH

18, Which of the following is not a nitrogenlﬁxing organism ?

Y’ Paramoecium (2) Anabaena

(3)  Azotobacter (4)  Rhizobium

Frafefed 3 @ S o ARgien Reie & aen sia 761 & 7
(1) RS () e

(3) THRIERR (4) el

%. The animals in which embryonic development completes inside the

female body are called
(1)  oviparous ‘_@/‘ viviparous

B both (1) and (2) (4)  none of these
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3 g e yoita afiedds arT YRR & 3iex T o €, weey &
(1) W (2) HolaweTe (SRIES)
@ (1) 3R (2) 3 (4) 9 Q=8 78

\1_,8./ The phenotypic ratio for a dihybrid cross is

(1) 1:2:1 2) 3:1

3) 9:4 4y~ 9:3:3:1
U fgdet G0l 1 TRIOTEY! 39T §

(1) 1:2:1 2) 3:1

3) 9:4 (4 9:3:3:1

197 For which disease is the Himgiri variety of wheat resistant ?

M Leaf and stripe rust (2) White rust

(3)  Bacterial blight (4)  Leaf curl
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T T el foves ot T & wieues @i & 2
(1) 9o e Ut febg (2) vam fog
(3) e TR @ ot e
29./ According to Central Pollution Control Board which particulate size¢

(in micrometre) is harmful to human health ?

(1) 10 (2) 75
3 5 W 2:5 or less

A ST e =i % IR v =g & SR (‘qﬁﬁtﬁz:;q) x

FUhE wRTE AT W@ % fw gweree § o
(1) 10 (2) 7.5

B S (4) 2577 FH
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‘.2,1./ The brain capacity of the Neanderthal man was

(1) 650 - 800 cc (2) 900 cc
(3F 1400 cc 4 300cc
frdetae AHa & Bikass =t awar 49

(1) 650-800cc . (2) 900 cc
(3)  140C cc (4) 300 cc

@V Red data book collects the record of which of the following ?

(1) Red ﬂchred plants
(2) Aquatic animals
@/ Endangered plants and animals

(4) Natural resources
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T T % Pt § Q R sterd g S E 7
(1) 7T qoft ey &

(2) g g %
(3)  Tororerma ot o FqaTt &
' .
(4) YHfoF danm %
rZ}-/f;n which day of menstrual cycle does ovulation occur ?
(1)  1-Sdays - (2) 1-10days
(3) 24 - 28 days @Y~ 12 - 16 days
- ST W% % Ty R sieieet wrm aar o

(1) 1-5f= 2 1-10fF

3) 24-28%A (4)  12- 16T
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@5/ The process by which RNA is formed from DNA is called

(1) IReplication J})/ Transcription
(3) Translation (4) Linkage

a8 yiskan f58% g1 AT § ARTAT &1 FHEir g7 §, Feeidl &

(1)  Sicia (2) TG
(3) EWiawW (4)  WeorAdl

Which substances are produced by the breakdown

carbohydrates in the process of fermentation ?
Ly)/ Ethanol and carbon dioxide

(2) Water and carbon dioxide

(3) Ethanol and oxygen

(4)  Water and oxygen

of
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Rt 2 s aeETede 3 724 3 AR T S F 8
(1)  3eT Tel 1 SRHATIRS
(2) 1 U SR SRR
(3) TS T i
(4) W1 G 3o
26/ Which of the following is a cloning vector ?

{y/ Plasmid (2) RNA

(3) Mesosome ~ (4) Ribosome
frfafaa & @ 1 & wifm dars & 2
(1) @S (2) RNA

(3) HEEm (4) TEEm
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@7_/ Which of the following is not a major abiotic factor of the

ccosystem ?
(1) Temperature (2)  Soil
(3) Water ( Bacteria
frfeifad # ® = N & Y@ 3ed 026 T8 € ?
(1) A @) T
(3) (4)  SfET
@ﬁ./Which of the following is an example of false fruit ?
(1)  Mango @)/ Apple
(3) Tomato (4)  Kiwi
frfefa & @ i sl S H T/ E 2
(1) aﬂtr 2) 9=

@) T | 4) HHE
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‘\2}/ Interfcrons are secreted by
\U/)/ Viral infected cells (2) Fungal infected cells

(3)  Bacterial infected cells (4) Protozoan infected cells

-

(1) fowy Gwfr wifveel () e Wi SIRE

(3)  iem WeRfira difEmE  (4) -u’rcﬂ?r‘ran epliaeT TeTehTST
,@9/ The Bt gene is isolated from the organism called

(1) E. coli {g)/ Bacillus thuringiensis

(3)  Brassica napus (4)  Lactobacillus

a5 Sta fd st s e femar s €, heerar &

(1) & @ierd (2) e qRfTR |

(@) & A @)  cleRRmE
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'_3}1,/ The average amount of energy transferred from one trophic level to

the next trophic level is

(1) 5% . & 10%

(3) 15% 4) 20%
@ﬁﬁw@mﬁwﬁmﬁ#ﬁmaﬁw%
(1} 5% 2) 10%

(3} 15% 4) 20%

\_}Q./ Which of the following is tested by amniocentesis ?

(1)  Genetic disorder (2) | Sex determination
(3)  Health of émbryo \[94/ A__ll of these

Tt ifaefag % grr frfefaa o @ forg &t S ot et @ 2
(1) o @) fom bt

(3) YU % WA (4) T | it
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{3}/ Which genetic disease is caused bY the

.

chromosome ?

? me
(1)  Turner’s syndrome .(2/ Down’s syndro

(3) Haemophilia (4) Klinefelter’s syndrome

gléwéﬁ@m@ﬁmm aﬁaﬁﬁﬁﬁﬂaﬂﬁm% ?
(1) R fagm 2 T R
(3) e (4) T fagH
\;/ Which nitrogenous base is not present in a DNA molecule ?
(1)  Adenine (2) Guanine
(3) Cytosine | 4~ Uracil
T SloTHoT6 U] H FHIF-H1 IO &R R e & 2
(1) TSHH (2) TR

(3) TR @) R

Xs-BIO (BOT+Z00)(OPT})-s [(12)/11084
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_25_ The number of ovum produced from one primary oocyte is
w1 | 2) 2
3 3 (4) 4
o T sie ¥ w A st 9 v ¥
(1) 1 2) 2

(3 3 . | 4) 4
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PART-B / 9T1-B

( SUBJECTIVE BASED QUESTIONS )

( Ferrafas smnfa uwa )
Class-12 Sub.-Biol M. -1 Hour 30 Min.
(mi-12) (i%m-:ﬁ; é%yq ) ({uﬁl; .3355) 1(‘1;;1;—1 a?—:r 30 fe)

INSTRUCTIONS / 3w ;

1.

Examinees

practicable.

are required to answer in their own words as far as

Tenefi aurive o wreg | § 3w 3

This question paper has three sections : A, B and C. Total number of

questions is 19.

T YD § A @S — A, B U C € | T S @ W& 19 &

Section-A

— Question Nos. 1 - 7 are Very short answer type.

Answer any five of these questions in maximum one sentence each

Each question carries 1 mark.
Que-A 4 W FE&A 1 - 7 A7 Y IR WER F § 137 Q Fedt o wesi
& IW AT | TAF 9T H I AfuFan T aw § v | W® e
TfemTe 1 3is fiRa €
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Section-B — Question Nos. 8 - 14 are Short answer type. Answer

any five of these questions in maximum 50 words each. Each

question carries 3 marks.

TUE-B — W TG 8 - 14 Y Iaw § | o @ el ura T F I

ANT | TEF T W IR sfeed 50 wed A AR | SAE TE
FAltuEm 3 37 Pyife 2 |

Section-C — Question Nos. 15 - 19 are Long answer type. Answer

any three of these questions in maximum 100 words each. Each

question carries 5 marks.

WUE-C — Yy G&1 16 - 19 9" I 2 | 7 @ fpdi dm ol & 3
AR | TAF T H IW AUHdA 100 T § AT | TR W H
srfmar 5 3t fuifa 8 |
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Section - A
g ug - A
( Very short answer type Questions )

(A ag T U )

Answer any five questions. 1x3=35

ferel dier st o 3?1? g
\}.f’ Write the name of one sex hormone secreted by human male.
HFE X % R Ao 6T SR ot O fom g & 9 ford)
o Give an example of adaptive radiation.

3T et fafetor &1 T 3w 3

_‘3;/ - Write the names of two micro-organisms that are used in human

welfare,
TS HTF0T H ITAM H 3 &t & GeHeiel & A ford |
4. Write the names of two biodiversity hotspots of India.

W%ﬁﬁaﬁ%ﬂﬂﬂiﬁﬁz-ﬁz%w%ﬁl
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By which method does asexual reproduction take place in yeast ?

RIS R SR T — el € 2
.6." What is chromosomal disorder ?

T famr @ )

7. Whatis a lichen ?

T R § 2

Section - B
9ug - B
( Short answer type questions )
( @Y FWT 0 )
Answer any five questions. IxS=15
fer=gt dif=r Al & I 3
\§,/ Define pollination. Write the characteristics of air pollinated flowers.
qrrer &R gReTTie Y 9 @ Wit g ot gt & o s fed
9. Differentiate between homologous and analogous organs.

TS UE SR 3T H IR W |
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,LO./ What is Biogas ? How do microbes play an important role in the

production of biogas ?

TAN TR TN F I § FQ gewelta weeaqul iR B wEah
A ?

U~ The following diagram shows a simplified biogeochemical cycle :

o,
Burning of T
fossil fuels =3, Plants
and wood

i) Name the compound whose cycle is shown in the above

diagram.

ii) What adverse effect does its excess amount cause on

environment ?

iiij) Suggest two ways of reducing its effect.
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:ﬁaﬁmwﬁﬁﬁmﬁﬁaﬂﬁ‘ﬂm?ﬁﬁmﬁt
‘ O
Sicie e
U§ e > ‘ﬁ"‘?‘

i) 3N Qi T A ol ferrs wor W gt e faw F fawn m

i) IHH! YTy A @ w1 W T gaieRT WOugdr & 2

iii) su%maﬁ-mmﬁésm@mgaﬁu

\1,2./ What measures should be taken to prevent from contacting sexually

13.

transmitted diseases ?
zﬂ?ﬁ?ﬁﬁﬁﬁﬂ?ﬁﬁﬁ@ﬁﬁ%iﬁuﬁfﬁmmaﬁmﬁq ?

With the help of a suitable monohybrid cross, explain law of

dominance in brief.
T ITGTH TH-Teh{ YT i Feraa | e & Fram &) wferer smem L)

How has the biotechnology been used in the production of pest

resistant plants ?

Hlz-0t Dl F IAEA | Ae-vefre S 3w e TR g T 2
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Section - C

gug - C
( Long answer type questions )

( < 3T Wy )

Answer any three questions. 5x3=15

feret = w9l & SE S|

15. Explain the process of DNA replication with the help of suitable

diagrams.

I FaAt sl wera ¥ Shen wfasia @ whe S e w7l
16. Explain the process of spermatogenesis in human.

T H YERI] A7 1 UisHaT ol ARl &1 |

J7. What is immunity ? What are the various types of immunity ?

Explain,
wieRer a7 & 2 Wiawen & fahis JoR | § ? S + )
18- Discuss the various tools of ‘Recombinant DNA Technology’.

‘gEtee SieT aetent’ % fafm el St ==t Sl
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19. What is air pollution ? What is the impact of air pollution on our

environment ? How can the air pollution be reduced ?

a1 TN 4§ 7 TR SISV W AR WENvT S ] WIS Ul @ 7 Y RN
Fi &8 wer w9 e s o § 2
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